
  

  PŘEVODY JEDNOTEK DÉLKY  (M-06-13) 

Převeďte dané délky na jednotky uvedené v závorce dle vzoru. 

Příklad: 365 cm (m) = 3,65 m 

1) 85 mm (cm) = 

2) 325 mm (m) =  

3) 258 cm (m) =  

4) 8745 cm (km) =  

5) 54 319 mm (dm) = 

6) 12,5 m (km) =  

7) 0,354 km (m) =  

8) 0,81 km (cm) =  

9) 0,043 m (mm) =  

10) 0,256 m (mm) =  

11) 0,0219 km (mm) = 

12) 0,65 km (dm) =  

13) 9153 mm (km) =  

Sečtěte: 

a) 0,25 km + 392 m = 

b) 0,082 km + 1543 dm = 

c) 4,7 m + 670 mm = 

d) 0,0043 km + 21 cm =  


